HASIL CEK_JPCS IOP Dlan_Homo_2019

by Jpcs lop Dian_homo_2019 Pmat

Submission date: 19-May-2022 10:08AM (UTC+0700)

Submission ID: 1839531568

File name: JPCS_IOP_Dlan_Homo_2019.pdf (575.18K)

Word count: 4074

Character count: 16844



PAPER · OPEN ACCESS

On (R, S)-Module Homomorphisms

To cite this article: D A Yuwaningsih et al 2019 J. Phys.: Conf. Ser. 1188 012114





IOP | ebooks™

Bringing you innovative digital publishing with leading voices to create your essential collection of books in STEM research

Start exploring the collection - download the first chapter of every title for free.

This content was downloaded from IP address 114.4.223.140 on 27/04/2019 at 09:58

On (R, S)-Module Homomorphisms

D A Yuwaningsih¹, I E Wijayanti² and P W Prasetyo¹

¹Universitas Ahmad Dahlan, Jalan Ring Road Selatan, Yogyakarta, 55191 Indonesia

²Universitas Gadjah Mada, Sekip Utara, Yogyakarta, 55281 Indonesia

E-mail: dian.ariesta@pmat.uad.ac.id

Abstract. Let R and S be arbitrary rings. In the algebraic structure it is known that the R-module structure is a generalization of a vector space. As in the ring structure, in the R-module some previous researchers have defined R-module homomorphisms, the types of R-module homomorphisms, the properties of R-module homomorphisms, and the fundamental theorem of R-module isomorphisms. On the other hand, the R-module structure has been generalized to the (R,S)-module structure. However, research and discussion related to (R,S)-modules are still a bit worked out. Therefore, in this paper we present the definition of (R,S)-module homomorphisms, the types of (R,S)-module homomorphisms, the properties of (R,S)-module homomorphisms, and the fundamental theorem of (R,S)-module isomorphisms.

1. Introduction

All rings in this paper are arbitrary ring unless stated otherwise and M is an additive Abelian group. On ring theory, there exist a fuction that preserves the aditif and multiplication binary operation tha's called a ring homomorphism. Let $(T, +, \cdot)$ and $(T', +', \cdot')$ be rings with unity. Based on [1], a function $f: T \to T'$ is called a ring homomorphism if for each $a, b \in T$ satisfy f(a + b) = f(a) +' f(b) and $f(a \cdot b) = f(a) \cdot' f(b)$. Moreover, [1] also discussed the types of ring homomorphism and its properties. The types of ring homomorphisms include ring monomorphisms, ring epimorphisms and ring isomorphisms. Furthermore, the discussions related to the ring homomorphism are always closed with the fundamental theorem of ring isomorphisms. Moreover, a deeper discussion related to ring homomorphisms have been discussed in [1–7].

In subsequent development, all theories related to ring theory were brought to module theory, including theories related to ring homomorphisms. Let T be a ring with unity. Given M and M' be left modules over T. Based on [2], a function $f:M\to M'$ is called a module homomorphism if for each $m,n\in M$ and $t\in T$ satisfy f(m+n)=f(m)+f(n) and f(tm)=tf(m). As with the ring, the types of T-module homomorphisms include T-module monomorphisms, T-module epimorphisms and T-module isomorphisms. The properties of T-module homomorphism are the generalization of properties ring homomorphisms. Moreover, the study of T-module homomorphism is also closed with the fundamental theorem of T-module isomorphisms. Moreover, the notion of T-module homomorphism have been extensively studied by various authors such as [1-4,6,7].

Let R and S be arbitrary rings. Over time, the module has been generalized to (R, S)2 odule. An (R, S)-modules as a generalization of (R, S)-bimodules has been introduced in [8].

An (R, S)-module has an (R, S)-bimodule structure when both rings R and S have central

Content from this work may be used under the terms of the Creative Commons Attribution 3.0 licence. Any further distribution of this work must maintain attribution to the author(s) and the title of the work, journal citation and DOI.

Published under licence by IOP Publishing Ltd

idempotent elements. In [8], also defined (R, S)-submodules of M as an additive subgroup N of M such that $rns \in N$ for all $r \in R$, $n \in N$, and $s \in S$.

Furthermore, the research related to (R, S)-module has begun to be developed by other researchers. Among of them are research in [9–13]. However, there is no researcher has ever investigated about (R, S)-module homomorphism. Therefore in Section 2, we present the definition of an (R, S)-module homomorphism, some examples of (R, S)-module homomorphisms, and some properties of (R, S)-module homomorphisms.

In Section 3, we extend the types of T-module homomorphism and the fundamental theorem of T-module isomorphims to (R, S)-module. Moreover, we also present several example related to them and the natural (R, S)-module homomorphism.

2. Some Properties of (R, S)-Module Homomorphisms

Before we present the definition of (R, S)-module homomorphisms, we present (R, S)-module structure and the (R, S)-submodule. This concept has been discussed in detail in [8].

Definition 2.1. Let R and S be rings and M an abelian group under addition. Then M is an (R,S)-module if there is a function $_ \cdot _ \bullet _ : R \times M \times S \longrightarrow M$ satisfying the following properties: for all $r,r' \in R$, $m,n \in M$, and $s,s' \in S$,

- (i) $r \cdot (m+n) \bullet s = r \cdot m \bullet s + r \cdot n \bullet s$
- (ii) $(r+r') \cdot m \bullet s = r \cdot m \bullet s + r' \cdot m \bullet s$
- (iii) $r \cdot m \bullet (s + s') = r \cdot m \bullet s + r \cdot m \bullet s'$
- (iv) $r(r' \cdot m \bullet s)s' = (rr') \cdot m \bullet (ss')$

We usually abbreviate $r \cdot m \bullet s$ by rms. We may also say that M is an (R, S)-module under + and $-\cdot - \bullet - \cdot$

Furthermore, given an (R, S)-module M and a nonempty set $N \supseteq M$. Then, N is called an (R, S)-submodule of M if N is an additive subgroup of M and also an (R, S)-module under the same operation that defined on M.

It is obvious that R is an (R, R)-module via usual multiplication the ring R. Moreover, any ideal of R are (R, R)-submodules of R. However, an (R, R)-submodule of the (R, R)-module R need not be an ideal of the ring R. An (R, R)-submodule of R is an ideal of R if R is a ring with unity.

Now, we define (R, S)-module homomorphisms as follow.

Definition 2.2. Let M and M' be (R, S)-modules. A function $f: M \to M'$ is called an (R, S)-module homomorphism if for each $m_1, m_2 \in M$, $r \in R$, and $s \in S$ satisfy:

- (i) $f(m_1 + m_2) = f(m_1) + f(m_2)$
- (ii) $f(r \cdot m_1 \cdot s) = r \cdot f(m_1) \cdot s$.

Before we consider more example of (R, S)-module homomorphisms, let us prove some basic properties of (R, S)-module homomorphisms.

Proposition 2.3. Let $f: M \to M'$ be an (R, S)-module homomorphism. Then,

- (i) f preserves the neutral element, that is $f(0_M) = 0_{M'}$.
- (ii) f preserves the inverse element of each element in M, that is f(-m) = -f(m) for all $m \in M$.
- (iii) If H is an (R,S)-submodule of M, then $f(H) = \{f(h) \mid h \in H\}$ is an (R,S)-submodule of M'.
- (iv) If N be an (R, S)-submodule of M'. Then, $f^{-1}(N) = \{m \in M \mid f(m) \in N\}$ is an (R, S)-submodule of M.

IOP Conf. Series: Journal of Physics: Conf. Series 1188 (2019) 012114 doi:10.1088/1742-6596/1188/1/012114

Proof. (i) Since f is an (R, S)-module homomorphism, $f(0_M) + f(0_M) = f(0_M + 0_M) = f(0_M) = f(0_M) + 0_{M'}$. This implies that $f(0_M) = 0_{M'}$ by the cancelation law.

- (ii) Let $m \in M$. Then $f(m) + f(-m) = f(m + (-m)) = f(0_M) = 0_{M'}$. Similarly, $f(-m) + f(m) = f(-m + m) = f(0_M) = 0_{M'}$. Since f(a) has a unique invers, f(-m) = -f(m).
- (iii) Let H be an (R, S)-submodule of M. Then, $0_M \in H$ and by (i), $f(0_M) = 0_{M'}$. Thus, $0_{M'} = f(0_M) \in f(H)$ and so $f(H) \neq \emptyset$. Let any $x, y \in f(H)$ where $x = f(h_1)$ and $y = f(h_2)$. Since f is an (R, S)-module homomorphism, then $x y = f(h_1) f(h_2) = f(h_1 h_2) \in f(H)$. Furthermore, let any $r \in R$ and $s \in S$. Since f is an (R, S)-module homomorphism, then $rxs = rf(h_1)s = f(rh_1s) \in f(H)$. Hence, f(H) is an (R, S)-submodule of M'.
- (iv) Let N be an (R, S)-submodule of M'. It's clear that $f^{-1}(N) \neq \emptyset$ because $0_M \in f^{-1}(N)$. Let any $x, y \in f^{-1}(N)$. Then $f(x) \in N$ and $f(y) \in N$. Since f is an (R, S)-module homomorphism, then f(x y) = f(x) f(y). Since $f(x) \in N$ and $f(y) \in N$, then $f(x) f(y) \in N$, so $x y \in f^{-1}(N)$. Furthermore, let any $r \in R$ dan $s \in S$. Since f is an (R, S)-module homomorphism then f(rxs) = rf(x)s. Since $f(x) \in N$ and N is an (R, S)-submodule then $rf(x)s \in N$, so $rxs \in f^{-1}(N)$. Hence, it's shown that $f^{-1}(N)$) is an (R, S)-submodule of M.

Definition 2.4. Let $f: M \to M'$ be an (R, S)-module homomorphism. The kernel of f, written Ker(f), is defined to be the set

$$Ker(f) = \{ m \in M \mid f(m) = 0_{M'} \}.$$

Definition 2.5. Let $f: M \to M'$ be an (R, S)-module homomorphism. The image of f, written Im(f), is defined to be the set

$$Im(f) = \{m' \in M' \mid (\exists m \in M) \ f(m) = m'\}.$$

Now, we give some example of (R, S)-module homomorphism.

Example 2.6. Let M and M' be (R,S)-modules and a zero function $\theta: M \to M'$ where $\theta(m) = 0_{M'}$ for each $m \in M$. Let any $m_1, m_2 \in M$, $r \in R$, and $s \in S$, then we obtain:

$$\theta(m_1 + m_2) = 0_{M'} = 0_{M'} + 0_{M'} = \theta(m_1) + \theta(m_2)$$
(1)

and

$$\theta(rm_1s) = 0_{M'} = r0_{M'}s = r\theta(m_1)s.$$
 (2)

From (1) and (2), we shown that a zero function f is an (R, S)-module homomorphism. Now, it's clear that $Ker(\theta) = M$ and $Im(\theta) = \{0_{M'}\}.$

Example 2.7. Let \mathbb{Z} and $\mathbb{Z}[X]$ be (\mathbb{Z}, \mathbb{Z}) -modules. A function $\theta : \mathbb{Z} \to \mathbb{Z}[X]$ where $\theta(a) = aX^2$ for each $a \in \mathbb{Z}$ is an (\mathbb{Z}, \mathbb{Z}) -module homomorphism since for all $r, s, a, b \in \mathbb{Z}$ satisfy:

(i)
$$\theta(a+b) = (a+b)X^2 = aX^2 + bX^2 = \theta(a) + \theta(b)$$
,

(ii)
$$\theta(ras) = (ras)X^2 = r(aX^2)s = r\theta(a)s$$
.

Now, we obtain $Ker(\theta) = \{0\}$ and $Im(\theta) = \{mX^2 \in \mathbb{Z}[X] \mid m \in \mathbb{Z}\}.$

Example 2.8. Let \mathbb{Z} be an $(2\mathbb{Z}, 2\mathbb{Z})$ -module. A function $f : \mathbb{Z} \to \mathbb{Z}$ where f(a) = 3a for each $a \in \mathbb{Z}$ is an $(2\mathbb{Z}, 2\mathbb{Z})$ -module homomorphism. Let any $a, b \in \mathbb{Z}$ and $r, s \in 2\mathbb{Z}$, then we get:

$$f(a+b) = 3(a+b) = 3a+3b = f(a) + f(b)$$
(3)

and

$$f(ras) = 3(ras) = r(3a)s = rf(a)s.$$

$$\tag{4}$$

Therefore, from (3) and (4) we shown that f is an $(2\mathbb{Z}, 2\mathbb{Z})$ -module homomorphism. Now, it's clear that $Ker(f) = \{0\}$ and $Im(f) = 3\mathbb{Z}$.

The following is given some properties showed that the kernel and the image of any (R, S)module homomorphism is an (R, S)-submodule.

Proposition 2.9. Let $f: M \to M'$ be an (R, S)-module homomorphism. Then, the kernel of f is an (R, S)-submodule of M.

Proof. It's clear that $Ker(f)\subseteq M$. Since $f(0_M)=0_{M'}$, then $0_M\in Ker(f)$ so we get $Ker(f)\neq\emptyset$. Let any $x,y\in Ker(f)$, then $f(x)=0_{M'}$ and $f(y)=0_{M'}$. Since f is an (R,S)-module homomorphism, then $f(x-y)=f(x)-f(y)=0_{M'}-0_{M'}=0_{M'}$. Thus, $x-y\in Ker(f)$. Furthermore, let any $r\in R$ and $s\in S$. Since f is an (R,S)-module homomorphism, then $f(rxs)=rf(x)s=r0_{M'}s=0_{M'}$. So, $rxs\in Ker(f)$. Thus, Ker(f) is an (R,S)-submodule of M.

Proposition 2.10. Let $f: M \to M'$ be an (R, S)-module homomorphism. Then, the image of f is an (R, S)-submodule of M'.

Proof. It's clear that $Im(f) \subseteq M'$. Since $f(0_M) = 0_{M'} \in Im(f)$, then $Im(f) \neq \emptyset$. Let any $x, y \in Im(f)$, then x = f(a) and y = f(b) where $a, b \in M$. Since f is an (R, S)-module homomorphism, then x - y = f(a) - f(b) = f(a - b). Since $a, b \in M$, then $a - b \in M$ so we get $x - y \in Im(f)$. Furthermore, let any $r \in R$ and $s \in S$. Since f is an (R, S)-module homomorphism, then rxs = 2f(a)s = f(ras). Since $a \in M$, then $ras \in M$, so we obtain $rxs \in Im(f)$. Thus, Im(f) is an (R, S)-submodule of M'.

3. An (R,S)-Module Isomorphism and Fundamentals Theorems

In this section, we present the types of (R, S)-module homomorphisms, several examples related to (R, S)-module homomorphisms, the natural (R, S)-module homomorphisms, and the fundamental theorem of (R, S)-module isomorphisms.

On module theory, there are some types of R-module homomorphism such as R-module epimorphism, R-module monomorphism, and R-module isomorphism. These types of R-module homomorphism has been studied in [2]. Now, below we present the types of (R,S)-module homomorphism are follows.

Definition 3.1. Let $f: M \to M'$ be an (R, S)-module homomorphism.

- (i) A function f is called an (R, S)-module monomorphism if f is an injective function.
- (ii) A function f is called an (R, S)-module epimorphism if f is a surjective function.
- (iii) A function f is called (R, S)-module isomorphism if f is a bijective function.

Moreover, the (R, S)-module M and (R, S)-module M' is called isomorphic if there exist an (R, S)-module isomorphism from M to M', denoted by $M \simeq M'$.

Here are given some examples of the types of (R, S)-module homomorphism.

Example 3.2. Let \mathbb{Z} be an $(2\mathbb{Z}, 2\mathbb{Z})$ -module. A function $f : \mathbb{Z} \to \mathbb{Z}$ where f(a) = -a for each $a \in \mathbb{Z}$ is an $(2\mathbb{Z}, 2\mathbb{Z})$ -module isomorphism. Let any $a, b \in \mathbb{Z}$ and $r, s \in 2\mathbb{Z}$, then we obtain:

$$f(a+b) = -(a+b) = -a - b = -a + (-b) = f(a) + f(b)$$
(5)

and

$$f(ras) = -(ras) = r(-a)s = rf(a)s.$$

$$(6)$$

From (5) and (6) it's shown that f is an (R, S)-module homomorphism. Furthermore, if assume that f(a) = f(b), then -a = -b, so a = b. Thus, f is an injective function. Next, for each $a \in \mathbb{Z}$ there exist $-a \in \mathbb{Z}$ such that a = -(-a) = f(-a). Thus, f is a surjective function. Hence, f is an $(2\mathbb{Z}, 2\mathbb{Z})$ -module isomorphism.

Example 3.3. Let \mathbb{Z} be an $(2\mathbb{Z}, 2\mathbb{Z})$ -module and an $(2\mathbb{Z}, 2\mathbb{Z})$ -module homomorphism $f : \mathbb{Z} \to \mathbb{Z}$ where f(a) = 3a for each $a \in \mathbb{Z}$. We can show that f is an $(2\mathbb{Z}, 2\mathbb{Z})$ -module monomorphism. Let any $a, b \in \mathbb{Z}$ where f(a) = f(b), then 3a = 3b. Consequently, we obtain a = b, so f is an injective function

Example 3.4. Let \mathbb{Z} be an $(2\mathbb{Z}, 3\mathbb{Z})$ -module and $2\mathbb{Z}$ be an $(2\mathbb{Z}, 3\mathbb{Z})$ -submodule of \mathbb{Z} . The function $f: \mathbb{Z} \to \mathbb{Z}/2\mathbb{Z}$ where $f(a) = a + 2\mathbb{Z}$ for each $a \in \mathbb{Z}$ is an $(2\mathbb{Z}, 3\mathbb{Z})$ -module epimorphism. Let any $a, b \in \mathbb{Z}$, $r \in 2\mathbb{Z}$, and $s \in 3\mathbb{Z}$. Then,

$$f(a+b) = (a+b) + 2\mathbb{Z} = (a+2\mathbb{Z}) + (b+2\mathbb{Z}) = f(a) + f(b)$$
(7)

and

$$f(ras) = (ras) + 2\mathbb{Z} = r(a+2\mathbb{Z})s = rf(a)s. \tag{8}$$

From (7) and (8) it's proved that f is an $(2\mathbb{Z}, 3\mathbb{Z})$ -module homomorphism. Next, let any $y + 2\mathbb{Z} \in \mathbb{Z}/2\mathbb{Z}$, then there exist $y \in \mathbb{Z}$ such that satisfy $f(y) = y + 2\mathbb{Z}$. Hence, f is a surjective function. Hence, f is an $(2\mathbb{Z}, 3\mathbb{Z})$ -module epimorphism.

The following proposition gives a necessary and sufficient condition for a monomorphism to be a injective mapping in terms of its kernel.

Proposition 3.5. Let $f: M \to M'$ be an (R, S)-module homomorphism. Then f is injective if and only if $Ker(f) = \{0_M\}$.

Proof. (\Rightarrow). Let any $a \in Ker(f)$. Then, $f(a) = 0_{M'} = f(0_M)$. Since f is injective, we must have $a = 0_M$. Hence, $Ker(f) = \{0_M\}$.

(\Leftarrow). Let any $a,b \in M$ and we may assume f(a) = f(b). Then $f(a-b) = f(a) - f(b) = f(a) - f(a) = 0_{M'}$. Thus we get $a-b \in Ker(f)$. Since $Ker(f) = \{0_M\}$, then we get $a-b = 0_M$. i.e. a=b. Thus, it's proved that f is injective. \square

In Proposition 2.9, we showed that if f is an (R, S)-module homomorphism of an (R, S)-module M in to an (R, S)-module M', then Ker(f) is an (R, S)-submodule of M. In the following proposition, we show that every (R, S)-submodule N of M induces an (R, S)-module homomorphism g of M onto the quotient (R, S)-module M/N such that Ker(g) = N.

Proposition 3.6. Let M be an (R,S)-module and N is an (R,S)-submodule of M. Define the function g from M onto the quotient (R,S)-module M/N by g(a)=a+N for all $a\in G$. Then, g is an (R,S)-module homomorphism of M onto M/N and Ker(g)=N. Moreover, the (R,S)-module homomorphism g is called the **natural** (R,S)-module homomorphism of M onto M/H.

Proof. From the definition of g, it follows that g is a function from M onto M/N. To show g is homomorphism, let $a,b \in M$. Then g(a+b)=(a+b)+N=(a+N)+(b+N)=g(a)+g(b). Hence, g is an (R,S)-module homomorphism of M onto M/N. Next, we will show that Ker(g)=N. Now $a \in Ker(g)$ if and only if $g(a)=0_M+N$ if and only if $a+N=0_M+N$ if and only if $a \in N$. Thus, Ker(g)=N.

Now, we give a proposition that show us the relationship between (R, S)-module homomorphisms and quotient (R, S)-modules.

Proposition 3.7. Let $f: M \to M'$ be an (R, S)-module homomorphism and N be an (R, S)-submodule of M contained in Ker(f). Let g be the natural (R, S)-module homomorphism of M onto M/N. Then there exists a unique homomorphism h of M/N onto M' such that $f = h \circ g$. Furthermore, h is injective if and only if N = Ker(f).

Based on Proposition 3.7, it follows that if N = Ker(f), then h is an (R, S)-module isomorphism and hence M/Ker(f) is isomorphic to M'. So, we obtain that every homomorphism of a group M onto a grup M' induces an isomorphism of M/Ker(f) onto M'. This result is known as **the fundamentals theorem of** (R, S)-module homomorphism. This result is also called the first (R, S)-module isomorphism theorem.

Theorem 3.8. (First (R, S)-Module Isomorphism Theorem). Let M and M' be (R, S)-modules. Let $f: M \to M'$ be an (R, S)-module homomorphism, then $M/Ker(f) \simeq Im(f)$.

Proof. Let K = Ker(f) and define $\theta : M/K \to Im(f)$ by $\theta(m+K) = f(m)$ for all $m+K \in M/K$. Let any $a+K, b+K \in M/K$. Now a+K=b+K if and only if $a-b \in K$ if and only if $f(a-b) = 0_{M'}$ if and only if f(a) = f(b) if and only if $\theta(a+K) = \theta(b+K)$. Thus, θ is an injective function. Let any $y \in Im(f)$. Then, then y = f(a) for some $a \in M$. Therefore, $\theta(a+K) = f(a) = y$. This show that θ is a surjective function. Finally, let any $a+K, b+K \in M/K, r \in R$, and $s \in S$. Then,

$$\theta((a+K) + (b+K)) = \theta((a+b) + K) = f(a+b) = f(a) + f(b) = \theta(a+K) + \theta(b+K)$$

and

$$\theta(r(a+K)s) = \theta((ras)+K) = f(ras) = rf(a)s = r\theta(a+K),$$

proving that θ is an (R, S)-module homomorphism. Consequently, $M/Ker(f) \simeq Im(f)$.

If the function $f: M \to M'$ on First (R, S)-module Isomorphism Theorem is an (R, S)-module epimorphism, then it's clear that $M/Ker(f) \simeq M'$.

Theorem 3.9. (Second (R, S)-Module Isomorphism Theorem). Let M be an (R, S)-module. If N and P be (R, S)-submodules of M, then $(N + P)/P \simeq N/(N \cap P)$.

Proof. Let $\pi: M \to M/P$ be the natural (R,S)-module homomorphism and π_0 be the restriction of π to N. Then π_0 is an (R,S)-module homomorphism with $Ker(\pi_0) = N \cap P$ and $Im(\pi_0) = (N+P)/P$. The result then follows from the First (R,S)-Module Isomorphism Theorem.

Theorem 3.10. (Third (R, S)-Module Isomorphism Theorem). Let M be an (R, S)-module. If N and P be (R, S)-submodules of M with $P \subseteq N$, then $M/N \simeq (M/P)/(N/P)$.

Proof. Define $f: M/P \to M/N$ by f(m+P) = m+N. This is well defined (R,S)-module homomorphism and $Ker(f) = \{m+P \mid m+N=N\} = \{m+P \mid m \in N\} = N/P$. The result then follows from the First (R,S)-Module Isomorphism Theorem.

4. Conclusion

In this paper we have discussed the (R, S)-module homomorphism, their properties, their types, and the fundamentals theorem of (R, S)-module isomorphisms. The result show that the definition and the properties of (R, S)-module homomorphisms can be generalized from the definition and the properties of module homomorphism. As well as module theory, the types of (R, S)-module homomorphism include (R, S)-module monomorphisms, (R, S)-module epimorphisms and (R, S)-module isomorphisms. Moreover, the investigation of this study is closed by the fundamentals theorem of (R, S)-module isomorphisms.

References

- [1] Malik D S, Mordeson J N and Sen M K 1997 Fundamentals of Abstract Algebra (New York: McGraw-Hill)
- [2] Adkins W A 1992 Algebra "An Approach via Module Theory" (New York: Springer-Verlag Inc)
- [3] Dummit D S and Foote R M 2004 Abstract Algebra (New York: John Willey and Sons Inc)
- [4] Hungerford T 1989 Algebra (New York: Springer-Verlag)
- [5] Fraleigh J B 2000 A First Course in Abstract Algebra (Addison-Wesley Publishing Company)
- [6] Herstein I N 1975 Topics in Algebra (USA: Xerox College Publising)
- [7] Wijayanti I E, Wahyuni S, Yuwaningsih D A and Hartanto A D 2016 Teori Ring dan Modul (Yogyakarta: Gama Press UGM)
- [8] Khumprapussorn T, Pianskool S and Hall M 2012 (R,S)-Modules and their Fully and Jointly Prime Submodules International Mathematical Forum 7(33) 1631-1643
- Yuwaningsih D A and Wijayanti I E 2015 On Jointly Prime Radicals of (R,S)-Modules Journal of The Indonesian Mathematical Society 21(1) 25-34
- [10] Khumprapussorn T 2013 Left R-Prime (R,S)-Submodules International Mathematical Forum 8(13) 619-626
- [11] Khumprapussorn T 2013 (R,S)-Modules and (1,k)-Jointly Prime (R,S)-Submodules International Journal of Mathematical, Computational, Natural and Physical Engineering 7(9) 873-876
- [12] Yuwaningsih D A 2018 Beberapa Sifat Radikal Prima-R Kiri pada (R,S)-Modul Jurnal Matematika Integratif 14(1) 1-7
- [13] Khumprapussorn T 2016 On the (m,n)-Jointly Prime Radical (R,S)-Submodules Far East Journal of Mathematical Sciences 100(1) 99-116

HASIL CEK_JPCS IOP Dlan_Homo_2019

ORIGINALITY REPORT

11% SIMILARITY INDEX

17%
INTERNET SOURCES

7%
PUBLICATIONS

O% STUDENT PAPERS

PRIMARY SOURCES

1

buzzard.ups.edu

Internet Source

4%

2

media.neliti.com

Internet Source

4%

3

Repository.Unej.Ac.Id

Internet Source

3%

Exclude quotes

On

Exclude matches

< 3%

Exclude bibliography